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Select the answer with the correct number of decimal places for the following sum:
13.914cm+243.1cm+12.00460cm = (106 1% %2)

(A) 269.01860cm (B) 269.0186cm (C) 269.019cm

(D) 269.02cm (E) 269.0cm

The difference between a student's experimental measurement of the density of

sodium chloride and the known density of this compound reflects the
of the student's result. (106 1£&2)

(A) accuracy (B) precision (C) randomerror
(D) systematicerror (E) indeterminateerror
is a method of separation that employs a system with two phases of matter,
including a mobile phase and a stationary phase. (106 /£%£)
(A) Chromatography (B) Distillation (C) Homogenization
(D) Vaporization (E) Filtration
SE g E@ffr% (thin-layer chromatography, TLC) 24 N a2 %0

TEREHIVIE TR A o T RENERE R ITERIRCL - f[EEEER © (106 HER)
(A) 1EERiuEfE - (development ) 2 S ARV A IR M2 B HHC mobile phase )
(B) ik mEEE] TLC / _EBF » BB REELiA 7842

(C) TLC |7 _EFrZfiny = Eukp AR it (stationaryphase )

(D) No] AT TLC | 3RA > HAA MG el HeE

(E) BERESLHS B SEEIY A/ NVE RN BIRFE AR RE K

A WEHI 245 R TS RIHVEUE 73 7l Ry 23.68 B 4.12 - F5 %2 Wi {8 S EAH DI -
FIT SIS SR IER S AL # (significant figures ) ? XAHSEIGFTS45 R IEA %
AR ? IR S ERTE > AHIRRAE & ) (106 1 [E)

(A)3;3 (B)4: 4 (C)3; 4

(D)4; 3 (E)5; 3
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(BrEE-BE) S8E8

() 6. NEREEY & REEREIRRIE AR R AN 22 2 M TEE
(105 Hr[=H)
(A) FHERMERZ R
(B) HIFiE&HH (NaxSO4) My RBHKEZE
(C) AZEIK (NHs(aq)) Ak rZfE
(D) SeHAEKEHSE L (NaOH(aq) ) 7K Rz fE
(BE) SeHIA/KH AbxBE =R (NaHCO3(aq) ) 7K Kz g
C D7 —fKmsE  BETFEENEERNBEZL/DAR (m) ? (105 275)
(A) 107 (B) 10
(C)10™ (D) 10"
() 8. TRz E BN - FMEBEEE T E - FiEL B EZC sk A mL
A fir ? (106 F-F)

20|

21

(A) 20.1mL > 3 fir (B) 20.10 mL > 3 {ir
(C) 20.10 mL » 4 fir (D) 20.100 mL - 5 fir

() 9. %1009 B B 95CHISEEE A 100 mL B B 25°CHK e » FFIfEfEsEE
KR EFTD ? (SBIEEEAI ) (106 )

B I il 1 I\Y
tE#h (J/g-°C) | 0129 | 0.237 | 0.385 | 0.418
(A) T (B)TI
(CO)In (D)IV
() 10. 20 NE > FEE CHX BBAR » HELIEE T 20X #HE R %/0 K 5°F ?
(106 FLBS)
140°C o |igl — — — » = 50° X
-10°Cop|ff——— » = 0°X
(A) 58°F (B) 326K
(C) 122°F (D) 325K
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()1 fiRAEREEERAAT > H5 0 2.056409+0.31g—1.019g= 7 (105 fA%&

(A) 1.35g (B) 1.345g
(C) 1.34g (D) 1.3g
()12 Fe—pBaaELERRIC 750°C » SEMLYAZER (F) %1% 2 (105 FAE)
(A) 1100 (B) 1280
(C) 1382 (D) 1560

( )13. —ff 35.09 ERVEIFEREAHINANERN » EEFEHEINE AFKIEE] 50.0ml
HIZIFE - EAIE RS AR R AGAEE By 68.89 AL £y 0.880g9/cm3 » 55
Z GRS L Fyfn] glem3 2 (s GRS AN A A R R S Bl 7
EAEEERIE) (104 FLES)
(A) 2.16 (B) 3.02
(C) 0.70 (D) 1.38
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(BrEE-BE) S8E8

F_E EIHTHEFELE

() 1.The average mass of a carbon atom is 12.011. Assuming you were able to pick up

()2
¢ )3
( )4

RE EED

only one carbon unit, the chances that you would randomly get one with a mass of
12.011 is . (106 1£52)

(A) 0% (B) 0.011% (C) about12%

(D) 12.011% (E) greater than50%

. Naturally occurring copper exists in two isotopic forms: 63Cu and 65Cu. The atomic

mass of copper is 63.55 amu. What is the approximate natural abundance of 63Cu ?
(106 1%%4)

(A) 70% (B) 63% (C) 90%

(D) 50% (E) 30%

. YR E A ER 7 (105 HET)

(A) TRELIEERE (Boyle's law) | 25 E & RIS E M NAVEASIRIRS R LL

(B) " E4HEE (The law of Definite Proportion) | E+5—(EEW/ERIAE R IT
RLEA—ER - HAGARNE Ryfel

(C) " fEEEZERE (The law of Multiple Proportions ) ; 245 [E{ 24 =] sE HHAR[R]
TR - (B ThIT R Z A R

(D) " AHER: (Charles’s law) | Z45/EER T » & & RAGHY AR B HDRT
AR IEEE

(E) MEREBAIRRERR (Avogadros law ) SEASAHIE THBRE (YR EIAS - 1FA
Gy RS, R TSI, Y AEMEE T #HE ) BET

NIRRT R S H B B s (Dalton’s atomictheory ) #1372 (105 Hr[])

(A) PrE A Rl EHY R -8R

(B) [EfE T REAE T FEEEE & R MR TR
(C) (‘EEVHERZF T Z A s/ NE# T

(D) FETFEALER R E T 4Ry B CIF AR A iR
(B) FIIZ=2E THAHE - 8RR T



() 5. H{5.6 SEafiiAR G - ARETEARTIIA NHs » ISR T HY Fe® &
E=S(E T8 (Fex03) V0B » &8 ~ JFRE MR - =S EER
1.6 3¢ - HEHET - VIS L= (FesOs) MIPI(FAE » et HEEbE T S
(=8 EEEH LA 7 (70+ 2 FeO3 : 160 g/mol ; Fes04:232 g/mol )
(104 1K)
(A) 6% (B) 28% (C) 32%
(D) 36% (E) 50%

() 6. FHELENER/KAUFEEHEESFES (tetraphenyl borate salt, KB(CeHs)s ) 257
MrR&IHY KO By K &8 508 KB(CeHs)s HFYE & fy 1.579 - (EHE
i : KB(CgHs)s=358.3g/mol ~ K,0=94.2g/mol ) T KO AVE &R LT
N HE—FE =S ? (106 2205)

(1.57) (94.2) (358.3)
(A) 358.3 (B) (1.57) (94.2)
(1.57) (94.2) 2 (358.3)

©) 2 (358.3) () (1.57) (94.2)

() 7.NH3 81 O, iZJEFEA: NO, B H,0 - i RFESER % » /58] 27.09 #Y H0 25
8.529 HY NH3 » e #J4IEEH /D 5aRY NH3 2 (104 Z&07)
(A) 17.0g (B) 25.59
(C) 34.1g (D) 68.0g

()8 EELIRED  fRREERSELEN —RILERK - BEA—EEN—R(EEH
SUMREZ/VERIVER ? (106 FE-T)
(A) 0.625 (B) 1.25
(C) 2.50 (D) 3.75

C )9 THW—«HEFET (isoelectronic) ? (106 F5F)
(A) K #1CI- (B) Zn* f1 Cu**
(C) Na 1 K™ (D)CI'A1S

() 10. FbEavsEE s H b4 @ 49.5%C ; 5.15%H ; 28.9%N ; 16.5%0 ; %

Hor e 194 0 Hl

o (C:12 5 N:14) (104 E=F)

(A) /F;ﬁft CSHYNO (B) %%:T:t C4H5N02
(C) %%Eﬁ C8H10N402 (D) %%:_Et C11H18N20
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